
0 10 20 30 40 500.
96

0.
97

0.
98

0.
99

1.
00

p = 0.99

x

π p
, a

ct
ua

l c
ov

er
ag

e

● ● ● ●

●

●

●

● ●

●

● ●

●

●

●

●

● ●

●

●

● ●

●

●

●

●

● ●

● ●

0 10 20 30 40 50

0.
90

0.
92

0.
94

0.
96

0.
98

1.
00

p = 0.95

x

π p
, a

ct
ua

l c
ov

er
ag

e

●
● ●

●
●

●

●

●

●

●

●
●

●

●

●
●

●

●
●

●

●
●

●
● ●

●
●

●
●

●

0 10 20 30 40 50

0.
85

0.
90

0.
95

1.
00

p = 0.9

x

π p
, a

ct
ua

l c
ov

er
ag

e

●
●

●
● ●

●
●

●

●

● ●

●

●

● ●

●

●

●

● ●
● ● ●

● ●

●
●

● ●
●

0 10 20 30 40 50

0.
80

0.
85

0.
90

0.
95

p = 0.85

x

π p
, a

ct
ua

l c
ov

er
ag

e

● ●

●

●

●

●
●

●

●

●

● ●

●
●

●

●

●
●

●
● ●

●
●

●
● ● ●

● ● ●

0 10 20 30 40 50

0.
75

0.
80

0.
85

0.
90

0.
95

p = 0.8

x

π p
, a

ct
ua

l c
ov

er
ag

e

● ●

●

●

●

●
●

●

●
●

●
●

● ●

●

●

● ●
●

● ● ● ● ● ● ● ● ● ● ●

0 10 20 30 40 500.
60

0.
70

0.
80

0.
90

p = 0.7

x

π p
, a

ct
ua

l c
ov

er
ag

e

●
●

●

●
●

●

●

●
●

●
●

●

●
●

●

●
●

●
● ● ● ● ● ● ●

●
●

● ● ●

0 10 20 30 40 50

0.
6

0.
7

0.
8

0.
9

p = 0.6

x

π p
, a

ct
ua

l c
ov

er
ag

e

●

● ●

●
●

●
●

●
●

●

● ●
● ●

●

● ●
● ●

●
● ●

● ● ● ● ● ● ●
●

0 10 20 30 40 50

0.
5

0.
6

0.
7

0.
8

0.
9

p = 0.5

x

π p
, a

ct
ua

l c
ov

er
ag

e

●
●

●

●
●

●
●

● ●

●

●
●

● ●
●

● ● ● ● ● ● ● ● ● ● ● ● ●
● ●


